

۱۹,۵

مجموعه

$$a_{10} = a_1 q^9 \cdot r^{-1} \cdot r^9 = a_1 \cdot r^8 \quad \checkmark \quad q^9 = r$$

(۱,۷۵)

$$\frac{a_{10}}{a_{10}} = q^2 = r^2 \quad \checkmark$$

$$\begin{aligned} a_2 + a_{10} &= a_1 r^2 \\ r^{-1} a_1 q^9 + a_1 q^9 &= (a_1 q^9) r^{-1} \\ r^2 \cdot r^9 &= r^{10} = (r^9) r \end{aligned}$$

$$\Rightarrow r^9 = r \quad \checkmark \quad = a_1 r$$

$$128 = r^7 = r^{-1} q^{n-1} \quad \checkmark$$

$$n-1 = 7 \Rightarrow n = 8 \quad \checkmark$$

$$r a + b = r^2 a + r^2 b \quad \checkmark$$

(۲)

$$\Rightarrow a+b = a \Rightarrow \frac{a}{r} = b \quad \checkmark$$

$$1 \cdot \frac{q^9}{1 \cdot r} = r^9 \Rightarrow q = r \quad \checkmark$$

(۲)

$$a_{10} = a_1 q^9 = 1 \cdot q^9 = q^9 \quad \checkmark$$

$$\begin{aligned} a_1 \cdot q^{10} &= r^2 \cdot q^9 \\ (a_1 \cdot q^9) &= r^2 \cdot q^9 \\ a_1 &= r^2 \quad \checkmark \end{aligned}$$

(۲)

$$1+n \cdot (n+1) \cdot (n-1) = n^3$$

$$1 - n^2 = n^3$$

$$1 = n^3$$

$$\frac{1}{r} = n$$

$$\frac{1}{r} = n \quad \checkmark$$

مجموعه
مجموعه

$$m+n = 128$$

$$a_1 \cdot q^9 = a_{10} \quad \checkmark$$

(۹)

$$\alpha_1 + \alpha_1 q^r = 11$$

$$\alpha_1 q + \alpha_1 q^r = 11$$

(2)

$$\frac{q(1+q^r)}{q(1+q^r)} = \frac{V}{r}$$

$$\frac{(1+q)(1+q^r)}{q(1+q)} = \frac{V}{r}$$

$$Vq = 11q$$

$$11q^r - 11q = 0$$

$$11q^r - 11q = 0$$

$$r(1+q)(1+q^r) = Vq(1+q)$$

$$r + rq^r - rq = Vq$$

$$rq^r + r - 1 = 0$$

$$\Rightarrow q = \frac{1}{r}$$

$$\Rightarrow \frac{1}{r} = \frac{1}{r} \Rightarrow r = 1$$

$$\frac{r}{q} = 11, 11q$$

$$r = 11, 11q$$

$$\frac{r}{q} + r + 11q = 11$$

$$\frac{r}{q} + r + 11q = 11$$

$$\frac{r}{q} + r = 10$$

$$r\left(\frac{1}{q} + 1\right) = 10$$

$$\frac{1}{q} + 1 = \frac{10}{r} \Rightarrow \frac{1}{q} = \frac{10}{r} - 1$$

$$q = 1$$

$$r + 11q + 11q^r = 11$$

$$11q = r + 11q + 11q^r$$

$$r + 11q = 11q^r$$

$$r + 11q = 11q^r$$

$$r + 11q = 11q^r$$

$$r + 11q = 11q^r$$

$$r + 11q = 11q^r$$

$$\begin{aligned} n_1 &= 1 \\ n_r &= r \\ n_q &= 11q \end{aligned}$$

$$\begin{aligned} n_1 &= 1 \\ n_r &= r \\ n_q &= 11q \end{aligned}$$

$$S_{1..n} = X \left(\frac{r^n - 1}{(r - 1)} \right) = \begin{pmatrix} 1 & 0 \\ r & -1 \end{pmatrix} \quad \checkmark \quad (2)$$

$$a \cdot r^{\frac{n(n-1)}{2}}$$

$$\begin{pmatrix} 1 & 0 \\ r & -1 \end{pmatrix} \times \begin{pmatrix} 1 & 0 \\ r & -1 \end{pmatrix} \quad \checkmark$$

$$a, ar, ar^2, \dots, ar^{n-1}$$

$$ar - a, ar^2 - ar, ar^3 - ar^2, \dots, ar^n - ar^{n-1}$$

$$a(r-1), a(r^2-r), a(r^3-r^2), \dots, a(r^n-r^{n-1}) \quad \checkmark$$

$$\begin{matrix} \times r & \times r \\ \text{...} & \text{...} \end{matrix}$$

$$ar^n - ar^{n-1} = a(r^n - r^{n-1}) \Rightarrow \text{...} = a \quad \checkmark$$

$$a_1 + a_2 + a_3 + \dots + a_{n-1} + a_n$$

$$a_1 + a_n = a_{n-1} + a_2 = \dots = \frac{n}{2} (a_1 + a_{n-1}) \Rightarrow$$

$$S_n = \frac{n}{2} (a_1 + a_{n-1}) \quad \checkmark$$

$$a, a, q, a, q^2, a, q^3, \dots, a, q^{n-1}$$

$$a, (1 + q + q^2 + \dots + q^{n-1}) \rightarrow a$$

~~a, q~~

$$a' = 1 + q + q^2 + \dots + q^{n-1}$$

$$a'q = q + q^2 + \dots + q^n$$

$$a'q - a' = q^n - 1$$

$$\frac{a'(q-1)}{(q-1)}$$

$$a = \frac{a(q-1)}{q-1} = \frac{a(q-1)}{q-1} = \frac{a(q-1)}{q-1}$$

//
✓

$$S_n = a, \left(\frac{q^n - 1}{q - 1} \right)$$